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int foo(int qg) {



int foo(int qg) {

Good!
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int foo(int *p, int *q) {

*p = 4;
*p = *q; I
return *p;

h
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int foo(int *p, int *q) {

¥p = 4; // 77
*p = *q;
return *p;

h
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int foo(int *p, int *qg) {
*n =4; // *X = 4
¥p = *q; // *X = *X
return *p;

h

int x = 0; V=ES

foo(&x, &x); oloL|7}



int p[100];
int q[100];

int foo()
*p = 4;
*p = *q;, // p, q: no alias
return *p;
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bool DSE::runOnBasicBlock(BasicBlock &BB) {

// If we find a write that is a) removable (i.e., non-volatile), b) is

// completely obliterated by the store to 'Loc', and c) which we know that

// 'Inst' doesn't load from, then we can remove it.

if (isRemovable(DepWrite) && isCompleteOverwrite(Loc, DepLoc, *AA) &&
lisPossibleSelfRead(Inst, Loc, DepWrite, *AA)) {

// Delete the store and now-dead instructions that feed it.
DeleteDeadInstruction(DepWrite, *MD);
MadeChange = true;

static bool isPossibleSelfRead(Instruction *Inst,
const AliasAnalysis::Location &InstStoreloc,
Instruction *DepWrite, AliasAnalysis &AA) {
// Self reads can only happen for instructions that read memory. Get the
// location read.
AliasAnalysis::Location InstReadlLoc = getLocForRead(Inst, AA);
1f (InstReadlLoc.Ptr == @) return false; // Not a reading instruction.

// If the read and written loc obviously don't alias, it isn't a read.
1t (AA.isNoAlias(InstReadLoc, InstStorelLoc)) return false;
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p = global(100*32) p = global(100*32)
int p[100]; q = global(100*32) q = global(100*32)
int q[100];
foo() { foo() {
int foo() { clang *p = 4
*p = 4 ~00 tl = *q dse tl = *q
*p = *q; —_— *p = tl —_— *p = tl
return *p; t2 = *p t2 = *p
1 return tZ return t2
} }
l store-load
p = global (100*32) p = global (100*32)
B * B " p = global(100*32)
q = global(100*32) q = global(100*32) q = global(100%32)
'FOO() { 'FOO() { dce foo() {
tl = * tl = * tl = *
*n ] ¥ — ] *n = ’c(1q
p = tl p = tl p :
return tl t2 ="p
return tl

} return tl 1

S — }
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"~ p = global(100*32) p = global(100*32)
n g = global(100*32) g = global(100*32)
foo() { foo() {
clang *p = 4
-00 tl = *q dse tl = *g
— *p = t1 — po=tl
t2 = *p t2 = *p
| return t2 return t2
}
r _—
P9t i M CH2 R W | store-load
-> p2} g= No Alias
-> t1 = *@

->*p =112 *p = 4 S AT
-> *p = 4= Dead StoreO|C}. -> X|XH
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1*q = ¢}

logical nop

return tZ2
{t2 = c}

return tZ2
{t2 = ¢}
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p = global(100*32)
{alc(p)}

q = global(100*32)
{alcCq), p = q}

ip = q}
*p=4






